MAIN ==> MB 1A_CD (DATA) MB 1A_CD ==> MAIN (ACK + DATA)
Data Number 0o | 1 2 3 4 | 5 | 6 | 7 e 9 0 1 2 3 4 | s 1 6 | 7 8 | 9
Erl STX | BOARD id | COMMAND type DATA ETX Check Sum STX | BOARDid | COMMAND STATUS DATA ETX | Check Sum
Cw Hsto 2 UHSH {22 o™ 0x01 0 £5(0 ~2047) 0x01 4 5(0~2047)
CCW sto 2 Aot £ 2 3| 0x02 |0 £&2(0 ~2047) 0x02 % £(0~2047)
x 03 Ml ‘
Hx| 0x03 0 0 0 0 0x03 0 0 0 0
1@ =)
01 ABS(ZTHSI%)
REL(=
o[ 0|5 0x04 ; Eitgiiﬂm 0|5 9I%|3k(2423) 0x04 2723
clear 3 0|%)
1(EH ER 2% S HRUO ~31) 0~31
2 (BX HF HF) YR /O ~3D) 0~31
Y 0|5 $IX|3(0~2047) 0~2047
40ISAl £&) O& 2IXIgt(0~2047) 0~2047
500184l 715 &) 0|5 2|X|34(0~2047) 0~2047
SE TS B AFYY 47| 0x05 ngif)'l;g? 0x05
65 3H]) 0 0 0 4(x16), 5(x8) 0 0 0 0~8
60d),  7(x2)
8(x1)
7 (home %) 0 ~2047 0 ~2047
. [B@EmPestonay [ em@eras) 100(successfully) 223
1(3% H& 4%) 0 0 0 0 0 0 0 0
_ A:’; S‘Q’; g (E:\E% EE) 8 g g g g | (L2e3+44546+7) - A:x: Sévé 1(Wrong checksrum) g g g g o | (F243+4+5+647)
0-32) (A—Eﬂ EA) &OXFF 032 2(tnvalid command) &OXFF
S TS D MEZ 9| 006 (HOIBAEE 0 0 0 0 0x06  |3(Wrong type) 0 0 0 0
5 (0|ZAl 715 E) 0 0 0 0 4(invalid value) 0 0 0 0
ES 0 0 0 0 [ 0 0 0-8
7 (home &) 0 0 0 0 0 0 0 0
8 (817} Position gh) 0 0 0 0 2723
AH ols 0x07 1 offset gt (2/23) 0x07 offset Zt (2723)
1(2H 75 HH) 0 0 0 0 0 0 0 fg_’f‘;
AbEf ol 0x08 0x08 O QITHA|
2E 3 AME) 0 0 0 0 ] 0 0 15 253
2z A2
0: 9600, 1:19200,
Set Global Parameter 0x09 LEAMEE) 0 0 0 2:38400, 3:57600, 0x09 0 0 0 0~5
476800, 5:115200
0: 9600, 1:19200,
Get Global Parameter 0x0A UEMEE) 0 0 0 0 0x0A 0 0 0 2:38400, 3:57600,
476800, 5:115200
OUTPUT 0x0B | 1(OUTPUT) 0 0 0 0 : OUTPUT OFF 0x0B 0 0 0 01
1:: OUTPUT ON
INPUT 0x0C | 1(INPUT) 0 0 0 0 0x0C 0 bl Bk S on




